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Question 7 of 18

One of Shell's plants is having a problem getting supplies of a particular chemical to create its
lubricant products. The supply problem is starting to have an impact on the plant’s ability to meet
customer demand. You have spoken to the supplier but they have not come up with an adequate
solution to meet the plant’s requirements. What would you do?

1. Counterproductive 2. Ineffective 3. Neutral 4. Effective 5. Highly Effective

Not 1 2 3 4 5  Most Least
rated

A. Speak to the supplier and say that you will D O .
terminate their contract unless they start to
supply enough of the chemical, as was agreed with
them.

B. Speak to other Shell plants within the region to O 0 O
see if they are experiencing similar problems. If
not, see if another plant can help you supply your
customers.

€. Speak to other Shell plants within the region to L) ® O
see if they are experiencing the same problem. If
not, see if their suppliers can also supply your
plant.

D. Ask Shell researchers to try to adjust the lubricant (] O O
formula to achieve the same quality with less
chemical, to meet customer demand with existing
supplies.
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Question 8 of 18

You are supporting the sales department to increase the retail sales of Shell fuel in a particular
country. There are two major sales areas in the country, one existing and one new. Currently,
the storage facilities for fuel in the new sales area are limited and would require significant
financial investment to increase and even up the distribution of product between the locations.
How would you recommend that Shell responds in this situation?

1. Counterproductive 2. Ineffective 3. Neutral 4. Effective 5. Highly Effective

Mot 1 2 3 4 5  Most Least
rated
A. You would recommend investigating whether there ) 0 8
is a temporary solution for storage in the new
area; reducing the immediate financial investment
in storage.
B. You would recommend increasing the storage in D '
the new area by a fraction of the planned amount
and plan to extend more fully in future if profitable.
€. You would recommend increasing the storage fully D O
in the new area to maximise potential sales and
risk lower levels of custom than planned.
D. You would recommend investigating a temporary D O
solution for the provision of fuel in the new area to
prevent investment in storage facilities before the
area is proven to be profitable.
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Question 9 of 18

Shell is in the process of developing innovative uses for sulphur, a naturally occurring by-product
of oil and gas production. One use for sulphur is as a component in a fertiliser to increase crop
yields. Shell is currently exploring further options for the use of sulphur. You work in the
Downstream business and have been asked to recommend how Shell can best respond to this
challenge. What would you do?

1. Counterproductive 2. Ineffective 3. Neutral 4. Effective 5. Highly Effective

Not 1 2 3 4 5  Most Least
rated

A. Speak to your colleague who has worked on the @) 0 0
fertiliser project to get a better understanding of
your options for new applications of sulphur.

B. Speak to your colleagues in the commercial area  |_J 8 0
of the business to understand more about where
the demands for sulphur based products might be.

€. Gather some experts from across the business to 0 O
share knowledge and generate ideas; this will help
you generate a range of possible options.

D. Look at what other sulphur based products exist @ 0 0O

on the market so you can consider how Shell is
best able to differentiate itself with a new sulphur
product.
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